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ThreeBond TPGA Challenge Tour (‘“""‘f,ﬁ
ThreeBond ThreeBond TPGA HEi &

s EESTHKRINS FE_OS#mER 109 &£ 6 B 18 A (248M)
OUT & IN &
#4271 S/ | HEe R1 | +/- #HRI SR | HE R1 | +/-
Group | Time | Tee % % Name Group | Time | Tee % % Name
=EF 751 3 ZEE 751 3
2R1h 751 3 FREE 751 3
1 07:00 n 16 07:05 —
w9 85 5 75| 3 zZaliE 75| 3
=&, 75| 3 Tiis 751 3
Z255h A 75| 3 HimiE 751 3
EEIP 75| 3 ik g 76| 4
2 07:10 17 07:15
=SB 751 3 $xH 76| 4
EER 751 3 BA%=S8 76| 4
=P 751 3 BRICE 76| 4
Ef= 74| 2 BEMm 76| 4
3 07:20 18 07:25
BREF 74| 2 REGE 76| 4
B 2§ 74| 2 =1aa 76| 4
HiE= 74| 2 FrEE 76| 4
il = 741 2 RIS 76| 4
4 07:30 19 07:35
& E52 74| 2 e e 35A 76| 4
1 RER 74| 2 10 BiE %= 76| 4
2104 74| 2 R 76| 4
R #4235 74| 2 FEZES) 76| 4
5 07:40 20 07:45
ERE 74| 2 REE 771 5
R 1 731 1 BEEE 771 5
REIR 731 1 iR 77| 5
HER 731 1 mAE 771 5
6 07:50 21 07:55
ZINE 731 1 ZIE=E 77| 5
prad il 731 1 FFE sl 77| 5
o 52 731 1 FEZL 771 5
ERE 731 1 SRIEMH 77| 5
7 08:00 - 22 08:05 —
PR SR X 731 1 HER 77| 5
WD 73| 1 Mg iE 78] 6
ARFEHY A 731 1 Z=ZE M 78] 6
BRIEE A 73| 1 RIER 78| 6
8 08:10 23 08:15 —
BAL 72| E SRFE A 79| 7
M E 72| E HIRE 79| 7




ThreeBond TPGA Challenge Tour (“'.“
Thlﬂ@ﬂnd ThreeBond TPGA k8 E )
w2 EESERIKS FE_OEadmER 109 % 6 A 18 B (E&8M)
OUT & IN &
287l R | HE R1|+/- #8271 i/ | A R1|+/-
Group | Time | Tee % % Name Group | Time | Tee % & Name
o $ham 72| E L% 79| 7
K EE 72| E =iEE) 79| 7
9 08:20 — 24 | 08:25
RER 72| E FeR Bl 1% 79| 7
BE— 72| E EfSH 79| 7
B 711 -1 MAEE 79| 7
= i 711 -1 BREE 80| 8
10 | 08:30 25 | 08:35
BRZCE 711 -1 REE 80| 8
FRi%Eth 711 -1 F=8H 80| 8
TES 711 -1 ERE 80| 8
padiE =3 711 -1 ZIEEE 80| 8
11 | 08:40 26 | 08:45
ZER 711 -1 FEHE 80| 8
1 E OHA 711 -1 10 HRIE 81| 9
FRERE A 711 -1 BEE 811 9
FR{AZ= 711 -1 B®EE 82|10
12 | 08:50 27 | 08:55 -
FEHF 701 -2 AFED 82110
FEH 70| -2 FR7) 4 82110
e 701 -2 [ =i 82|10
iz 70| -2 Y ¥=AcT 82110
13 | 09:00 28 | 09:05 ——
RER 701 -2 - i 82110
AES 701 -2 e = 83|11
2SR 701 -2 SRESFRE A 83111
HERE A 70| -2 BwBEE A 88116
14 | 09:10 — 29 | 09:15 -
B = 691 -3 mftis 88116
&= 69| -3
R=iE 691 -3
F AL 68| -4
15 | 09:20
= fE 68| -4
BREEAE 68| -4




